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)‘6.2 Write structures of the compounds whose IUPAC names are as follows:
() 2-Methylbutan-2-ol (1) 1-Phenylpropan-2-ol

(iti) 8,5-Dimethylhexane -1, 3, 5-triol (tv) 2,3 - Diethylphenol

(v) 1 - Ethoxypropane (vi) 2-Ethoxy-3-mcthylpentanc

(Vi) Cyclohexylmethanol (viti) 3-Cyclohexylpentan-3-

(ix). Cyclopent-3-en-1-o0] (x) 4-Chloro-3-ethylbutan- 1-ol.
11.3 () Draw the structures of all isomerié ajc H.0

~-and give their [UPAC names,

(1) -Classify the isomers of alcohols in question 11.3 (j) ag Primary, sccoridary
‘and tertiary alcohols,

Propanol has higher botling potnt than that of the hydrocarhon,
11.5 Algohols are Comparatively more solub] ;
Comparable molecyar Masses, Explall:x ¥ mf;vce:‘ter Hhan bydrocarbons o

, hydroboration—omdauon

isom bara nitrophenols by steam
€I which wyp) be Steam volatile. Gjve rt{ason.

of phenol from cumene.

» conc. H
Preparation of phenol using these Teagents, Write the €Quations for the
try 344



how how will you synthesise:

11.1
jsm l_phenylethanol from a suitable alkene.
2 reaction.

(1) cyclohexylmethanol using an alkyl halide by an Sy

(1) pentan-1-ol using a suitable alkyl halide?
1 Give two reactions that show the acidic nature of phenol. Compar
1 of phenol with that of ethanol.
”,ﬁ Explain why is ortho nitrophenol more acidic than ortho methoxyphenol ?
11 yxp’lam how does the -OH group attached to a carbon of benzene ring
N activate it towards electrophilic substitution?
e equations of the following reactions:

(i) Oxidation of propan-1-ol with alkaline KMnO, solution.

e acidity

11.1

(ii) Bromine in CS, with phenol.
(iii) Dilute HNO; with phenol.
(iv) Treating phenol wih chloroform in presence of aqueous NaOH.

11 Jé’éxplain the following with an example.
(i) Kolbe’s reaction.

(ii) Reimer-Tiemann reaction.

(iii) Williamson ether synthesis.

#ﬁv) Unsymmetrical ether. T
1Y.19 Write the mechanism of acid dehydration of ethanol “to yield ethene.

ow are the following conversions carried out?

11.
(i) Propene —» Propan-2-ol.
(i) Benzyl chloride — Benzyl alcohol.
(iii) Ethyl magnesium chloride - Propan-1-ol.
(iv) Methyl magnesium bromide — 2-Methylpropaf1-2-ol.
11,21 Name the reagents used in the following reactions:
| (i) Oxidation of a primary alcohol to carboxylic acid.

(i) Oxidation of a primary alcohol to aldehyde.
(iii) Bromination of phenol to 2,4,6-tribromophendl.

(iv) Benzyl alcohol to benzoic acid.
(v) Dehydration of propan-2-ol to propene.
(vi) Butan-2-one to butan-2-ol.

-
fzz Give reason for the higher boiling point of ethanol in comparison to
methoxymethane. 4 _
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1133 GV uee B g, @ CHSOCHQCHQCI (i) O,N-C,H -q CHn(m
— H "C 3 |
() C,HOCH: f he CH
CH,
| v
(v
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2
' f th
f reagents and equations for the preparation of the fOHOWlng
“24 Write the names Ol IT4 e ’
ethersPrl;y ‘Z;lll)iz)l::xzs oot (1) Ethoxl);benz::::ne
s y -Methoxye
(iii; 2-Metl;mxy-2-methylpropane (iv) 1-MethoxXy ane
f Willlamson synthesis for the

11.25 Ilustrate with examples the limtlttlati:ns Y
preparation of cerialh VBe" iy -1-0l? Write mechanism
11.26 How is 1-propoxypropane synthesised from propan
f this reaction. ,
preparatio acid dehydration of secondary or tertiary alcohols

11.27 Preparation of ethers by
is not a suitable method. Give reason. "
11.28 Write the equation of the reaction of hydrogen iodide with:
5 enzene and (i) benzyl ethyl ether.

(i) 1-propoxypropane (i) methoxyb
xy group activates the

11.29 Explain the fact that in aryl alkyl ethers (i) the alko ‘
benzene ring towards electrophilic substitution and (ii) it directs the

incoming substituents to ortho and para positions in benzene ring.
1.30 Write the mechanism of the reaction of HI with methoxymethane.
: 1 Write equations of the following reactions:
: (i) Friedel-Crafts reaction - alkylatiofl of anisole.

(ii) Nitration of anisole.
(iii) Bromination of anisole in ethanoic acid medium.

(iv) Friedel-Craft’s acetylation of anisole.

11.32 Show how would you synthesise the following alcohols from a ropriate
alkenes? ' : pprop

CH,
OH

@ g OH } (1) \/\W
OH
(i) )\/\ (iv) OH

11.33 When 3-methylbutan-2-ol is treated with HBr, the following reaction takes

lace:
£ Br

|
CH,- CH- CH-CH
nm =GR, HBr CHy~C - CH,-CH,

CH, OH CH,

Give a mechanism for this reaction.
(Hint : The secondary carbocation fo
stable tertlary carbocation by a hydri

rmed in step Il rearranges to a more
de ion shift from 3rd carbon atom,
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